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SN 4ZE2S =X
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AZ2s =2 44,008 50,550 16,542

= 300 300 0

Al 43,708 50,250 16,542
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< 300 300 0

Al 9,340 10,590 A1,250
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< 300 300 0

Al 9,340 10,590 A1,250
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Oxg sl 1,820 3,970 A2,150

- SEAUBRAE S WYSY 1,106 1,880 ATT74
HEXEE2 330,0002 *1CH+18] 330 600 A270

xR Xl 58,0002 *1CH* 122 696 1,200 £ 504

—-SBINE A% HT2Y 714 2,090 A 1,376
nex2EE 230,0008! *1CH * 13l 230 370 A 140

DAL 37,0008 *1CH * 122 444 1,680 A 1,236

OfmEsE 290,0002 * 122 3,480 2,580 900
BHSYPH (ABES =X D) 34,368 39,660 A5,292
=l 34,368 39,660 A5,292
ol =2 2| 34,368 39,660 A5,292
201 2Bt | 15,168 17,340 A2,172

01 At 22l | 15,168 17,340 n2,172
SEVIEL-PILETT 12,792 14,040 A 1,248

— Sl 42,0002 13+ 128 6,552 7,800 A1,248
O=BANRI X2 198,000 *1CH 122 2,376 3,300 A 924

202 01 15,600 18,720 A3,120

01 2U01Hl 15,600 18,720 £3,120
OYREXII=20iH| 10,0009 * 132 » 128 15,600 18,720 £3,120
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2N HE=1S
HH: FoOMdH2G(A=R21S)
Hearze(a3=218) (22 &d)

SA-3H-S(3AH) - MRAS - BES INEH Hns2
=21 321,973 304,052 17,921
< 300 300 0
Al 321,673 303,752 17,921
dE2g(d=218) 273,240 255,319 17,921
drel (g3 =18) 162,340 144,419 17,921
HAZe (8=2E18) 153,893 135,972 17,921
401 AIEBIZ S CHYI 101,458 83,537 17,921
01 A€ HI 101,458 83,537 17,921
OFM HOHA 02 0 2,500 22,500

OJIH A =Xt Not=xtd &X

S A 101,458,000& 101,458 81,037 20,421
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2018 = =& 1 3 L3 4528 ULEFHW ~ MES
2AM: SU2s
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& 123l (Sl & &)
SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
sSUHes 176,057 179,557 A 3,500

< 300 300 0

Al 175,757 179,257 A 3,500

HYR2IZH (ZU2S) 36,240 39,740 A 3,500
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202 044l 12,340 15,840 A 3,500

01 SLHOIYI 12,340 15,840 A 3,500
OgE=AI=0Hl 12,340,000& 12,340 15,840 A 3,500
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2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Hwsz

T (AAES) 4,780 5,580 800

201 Lpte | 4,780 5,580 800

02 ZZ 2l 4,780 5,580 800

OZEXRY RN 1,600,000 *2CH 3,200 4,000 800
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201 pt2 | 4,800 7,920 £3,120
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— 9= 8,357 & 25 »28A| 2t+ 128 70,199 62,729 7,470
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N = 0 &F AF Y 93 A A
20188 = =& 1 g Bt H A28 UJAHF Y ~ MES
PR e
M FOIME 2Y(HE2S)

CHol: FOIME KR (FE2E) (929
SA - HB O (BH) - HNRA - BAS O A o JIE ot HD=2
AE2S 178,269 281,663 A 103,394

= 300 300 0

Al 177,969 281,363 A 103,394

FOHE 2H(2E28) 132,571 230,965 N 98,394

FOIME I/ (2E25) 80,261 175,180 AN94,919

=0lME T/A(/E2S) 2,241 2,560 A 319

301 et A= 1,541 1,860 A 319

09 SHAIAHI EAZ 1,541 1,860 A319

OZE A =01529 2Y9H| 381,000 381 700 A 319
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01 Al&H| 0 94,600 A 94,600
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